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(viii)Outline maps of th&Vorld and India provided to you must be attached
with your answer-book.

(ix) Use oftemplatesor stencilsfor drawing outline maps is allowed.

a6 -

() @ g9t & FT qe@r 19 21

(i) &t 7o SHfaard &1
(i) 7&® & T 39 % (T &1 O
(V) 797 @&r 1 & 10 T Tg-IaT aret §97 & SR g% 97 % 3 %?@@W
F97 &7 T 80 =T & Siferp FE & WRT | ¢
@?’/@#m

(V) T97 @@ 11 & 15 % 4 Tg-Fa% arad §97 & ik
T97 @7 ITT 120 =T F 3Hferp &1 &1 ey |

@%5 S &1 0 gdw

&) g8 g9T 5 51k FT &

YT TG H Sa9 el HIT |
& gIIT F SrgERT & At 2

(Vi) 797 @&T 16, 17 37 18 T -307 Tt F9.
T97 & T 150 IEl & Siferw 78

(Vi) To7 T 19 4 Sffd @g-3al #
(Vi) TG ST YR & 3 77 T
(iX) (@r-grFfT 97 &

riter@ book ‘Geographia Generalis’? State two branches
acgording to this writer. 1+2=3

1. Who was the
of geograp

Meh J&ieh 1 @k i AT? 37 @k & ATAR G hl &l

1%+1%=3

fouaas] W oaTRa FareH & d9 @ & AW gaRy SR YdE av @ UH-Uh
ISTET S |
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3. Why is iron most widely used in the world, in comparison with other metals ?
Explain three reasons. 3x1=3

AR | TR BT IUANT g G1qeil &l a1 § Faifers a0 8 &2 A HROT T
T |

3x1=3

4. Explain with examples the three major physical factors which affe p
distribution in the world.

Wﬁwﬁ%ﬁmwaﬁwﬁaaﬂﬁaﬁeﬁqqg@ﬁﬁmawﬁah&

W P | @ ¢
5. How does ‘specialisation’ in the production g nd services promote
international trade in the world? Explain vxig t uitable examples. 3x1=3

TS AR T & I H fafirear - MR & fF TR
I AT &7 W SUgh SeTEon |

6. Explain any three major pr ed by Indian farmers in drylands. 3x1=3
I Yt | A 3T T {2l i1 Y @ FHEISAT &l T HITT |

4
regional disparity in the levels of development in India”.

statement with any three suitable examples. 3x1=3

& I H YT o et seehdl & 1”7 el die SugE Saretl
FI N G IR |
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8. Study the map given below and answer the questions that follow :

1950-51 1980-81 1996-97
Length of Roads(000 km)
All 400 1419 2465.9
Surfaced 157.0 684.0 1394.1
National Highways 19.8 31.7 34.8
State Highways NA 94.4 137.1
Number of Registered 0
Vehicles (000)
All 306 5391 37231
Goods Vehicles (000) 82 554 260
Buses 34 488

ease during the period
h has it increased ?

(8.1) Which type of roads shows the hi
between 1950-51 and 1996-97 ?“How
t

(8.2) Explain two reasons responsi increase in this type of roads:2=3

I & T2 grRolt @ reaas il e o 9ot % S AT -

1 1980-81 1996-97
TSHl @t @ (00 ) F

gyl ymR & TSk 400 1419 2465.9
G ® 157.0 684.0 1394.1

19.8 31.7 34.8

NA 94 .4 137.1

(000) 306 5391 37231

gred (000) 82 554 2260

T4 34 162 488
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(8.1)

(8.2) TH UHR &I H3hi H & Ji& & (U IAEHET &1 B0 I T RN |

Note :

State any three main features of ‘Border Roads'.

e ;. Fefafad g9 daa gied qdeniRiat & fog uew @' 8 &
A qEHl Bl el i qe [ASuarell &7 Swi@ Hitd |

9. Study the map given below and answer the questi

64/1/1
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The following question is for thBLIND CANDIDATES only in lieu
of Q. No. 8.
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1+1+1=3
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(9.1) Name the canal shown in the map. In which country is it located ?
(9.2) Name the two seas connected by this canal.
(9.3) Name any two lakes through which this canal passes.

I few o At & SegEs FIT SR SEd S ¥ T gl & I i ¢

X ——  YHe] §FR
2
(9.1) feaTg M€ qeX @1 A gAzu | gE e} fhe dor # Rya 22

TeX ¥ I3 & Rl & M gadrey |
foet 1 sfidl & A ganEy, 99 g I8 e TRl § |

ote : The following question is for th&lind Candidates only in lieu
of Q. No. 9.
State three main features of ‘Panama Canal'. 3x1=3
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e ;. frefafed 9o daa gftedm alenfRfar & fou get den 9 & wm
W E

YET BT & A e eIl Sl Sl Do |

10. Study the diagram given below and answer the questions that follow : 1+2=3

>0

3 3 Ty

(10.1) Give a suitable title to the given diagrant:

(10.2) How is rainwater harvested ughythits technique ? Explain.
T few T S T ST T few T gt & I e
ST
,(:\ a2 ? ‘,’ :.}

(10.1) R 7T em@ & fog Suge s &)

(10.2) =9 faftr g1 auiera &1 GUe fhd YR fokar Sirar 22 T &t |
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11.

12.

13.

14.

Note : The following question is for th&lind Candidates only in lieu
of Q. No. 10.

What is rainwater harvesting ? State any four objectives of rainwater harvesfin@=3

e fefafed 997 daa g et & fou ye den 10 & =
W E

JUIST BT 9 Ted &7 Uit QU8 & fhel IR el B Swid aﬁﬁlﬁQ
0

Write any two main characteristics each of the four different m@ sport

in the world. 4x1=4
GER # URdes & AR e Aregdl & e fagvan i | *
Describe any four major human-made sources of @ir poflution in India. 4x1=4

AR H I1g 90T & el IR Yq@ H=dehd ardl |

Explain any four differences between & urban settlements in India. 4x1=4
IR ® AT IR W aftaa | [ T TS HITTT |
of India into two groups. Explain three

Classify the means of comm@
points of importance of ea up: 1+3=4

YR & qAR HEL W fiSia T | g vt & el & we Al

et?below and answer the questions that follow :  1%+1%+1=4
bal Land Use Changes (Area in Million Hectares)

Land Uses| 1700 | 1850 | 1920 1950 1.980| 2000*

6214 | 5965 | 5678 5389 5058 3454

Grasslands 6860 | 6837 | 6748 6780 6788 3427

Croplands 265 537 913 1170| 1501 | 1512
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(15.1) Under which land use category the smallest area of land is being used ?
Explain one reason for it.

(15.2) Name the land use category in which the area is continuously decreasing.
Explain due reason for it.

(15.3) Explain the main reason for the continuous increase of crop land ar

T &1 T ARON P STHA BT AR IEE A G T S b I df
5T TR R -I0@T qRadT (§576d @ TG 3R 1)

T J-3TERT 1700 | 1850 | 1920 1950 1.980%200db*
ec} 6214 | 5965 | 5678 5389@59 3454
e f 6860 | 6837 | 6748 6/f8 88 3427
EEd & 265 | 537 913 1501 1512
(15.1) g Y-SWINT & =i Had &4 &W"’Yé’aﬂ% ? TR Th HR
e IR |
(15.2) 38 Y-I9G0T 9 HT A &ABA TR T T & | TqHT Th
HROT T BT |
(15.3) ®ad &9 & T BT &I BRI W I |

Note : The follgwing question is for th&lind Candidates only in lieu

Expl our features of commercial agriculture practiced in the world. 4x1=4

Us dhaq giegM qleniial & fau use d@n 15 & @

YR H q1ioriedes HiY hl fhsl TR fSodrsti @ amean S |
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16. What are rural settlements ? Which are the two distinct patterns of rural
settlements of the world based on the form ? Describe three main features of
each. 1+1+1%+1%=5
T SRAAT fhe Ped &7 AP & SMER W FER &l AT Jaqdl & & ga
T BT T 7 YAh Bl AH-a [IOdTeT B auie i |

1+4=5

17. What is the meaning of population growth ? Describe two main fe ch
of the four phases of Indian demographic history. b

TEET Jhg 1 HT 37 &2 IRATT TR e Sl TRI TSt dHiar-ar
Qe 1 auie HifoT |

% )
18. How do the physical factors play a dominant role iri{the ution and density

of population on the earth’s surface ? Explai iw€ factors with suitable
examples. 5x1=5
Tl TR STHET & faawer a7 59 TR Re e T eyt

qfehT T €7 bl ufa ®Rel @l SR died T Bt |

19. (19.1) Inthe given politicalg

as A, B, Cand BB
es on the dotted lines marked on the map4xv2=2

write their c
(19.2) Onthe given pofitical outline map ahdia provided to you, locate and

IoWing with appropriate symbols : 3x1 =3

ap of theorld four features are shown
dentify them with the help of the map legend and

least populated state,

he biggest oil refinery in the country,

(in) Iron and steel plant located in Chhattisgarh.

1)U U §ER & ToHifae W@r-aEts § ar @@ A, B, C ik D ¥

fe@m T €| AHfeE @ el H qeddr ¥ Ie Yedie SR AT §
Sk WUSd W@ W S W@l & Fél AW [y |
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(19.2) 39ep! CU T HRA & ToHias @r-AFas o fefaiaa @ feafa
SUg el & feEmey SR S s AW fafad

(i) 999 ®H STHEET 9rar T
(i) < I FIE TS oA JREROT QTr
(iii) BT ¥ Rafa dier R gw |95

of Q. No. 19.

Note : The following question is for th&lind Candidates only in uf
x1=5

(19.1) Name the most populated country of Africa.

(19.2) Which is the largest wheat producing country of pez
(19.3) Which is the least populated state of India ?

(19.4) Name the biggest oil refinery of our countrg
(19.5) Name the iron and steel plant located % Isgarh.
L &

die ;. ffated 9T Faa gied U9 @ 19 & e

W
(19.1) 3ThieHT & G Aferh 29T BT T AT |
(19.2) TA9 &1 TG T2 T v 2?
(19.3) 9 &1 T HH T HIF A7 82
(19.4) A9 I A TRSFROT ST T A dded |
(19.5) BiraTe AR ZE AT BT A Iy |

¢
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Map for Question No. (19.2) I " (19.2) % fog
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